
NCAA lecture 2 : quizsolutions

1)Only statement

d)
is correct

,
as long as :

a- ) i is transient iff P ( xn # i Vnzeltoei ) so

b ' ) i is transient Iff PC Insist
. Kei Kei ) c I

c- ) i is recurrent iff PC In zest . Kei Koei ) = I

e- ) i is recurrent iff P ( Ti -

- east Kei ) = o

( iff P ( tic - cool Xoei ) =L )

2) Only b ) & d ) can influence the

real
trans

. of sane States;
a ) & c ) can 't ( as long as the graph remains a valid

transition graph , of course )
.



3) a ) P ( X zu ) = ⇐ 2-
m

= 2-
n "

for not

and E ( X ) = n . P ( X = n )=p # Pcxzn ) = 2 Ceos

( useful hide ! )

b) Pcxzn ) -

- ⇐ Er =ECE)and E ( x ) =

nzfn.PK/=n#--
too ( harmonic series )

Q CE )

c) This question is a trap : it is irpossible that

PC Xen ) = E for some o c Cat as
,

as this

would imply =P( x=n ) = c. I. I =  t as

" Z "

( again ,
harmonic series )


